

St. Louis County, Minnesota



Parcel ID:			General De	etails				
	175-0100-0044	0						
		Le	gal Description	on Details				
Plat Name:	MT IRON							
Section	Τον	vnship	F	Range		Lot		Block
28		59		18		-		-
Description:	NE1/4 of SW1	/4						
			Taxpayer D	etails				
Taxpayer Name	ES STEEL CO	RPORATION						
and Address:	C/O RYAN LLC	;						
	1 PPG PL STE	2810						
	PITTSBURGH	PA 15222						
			Owner De	tails				
Owner Name	UNITED STAT			•				
		Paya	able 2025 Tax	k Summary				
	2025 - Net	Тах				\$0.00		
	2025 - Spe	cial Assessme	ents			\$0.00		
	2025 - T	otal Tax &	Special Asse	ssments		\$0.00	-	
			-		<b>((</b> )			
		Curren	t Tax Due (as		:5)			
Due Ma	y 15		Due Octo	ber 15			Total Due	
2025 - 1st Half Tax	2025 - 2	2025 - 2nd Half Tax \$0.00			2025 - 1	st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid \$0.			\$0.00	2025 - 2	2nd Half Tax Due	\$0.00
	φ0.00				φ0.00			φ0.00
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due			\$0.00	2025 - Total Due \$		
			Parcel De	tails				
Property Address:	-							
School District:	712							
Tax Increment District:	-							
	-							
Property/Homesteader:			nt Details (20	24 Pavable	2025)			
Property/Homesteader:		Assessme						
Class Code H	omestead	Land	Bldg	Total		Land	Def Bldg	Net Tax
(Legend)			-	-	E	Land MV \$0	Def Bldg EMV \$0	Net Tax Capacity



### St. Louis County, Minnesota



			Land D	etails		
Deeded Acres:	40.00					
Waterfront:	-					
Nater Front Feet:	0.00					
Water Code & Desc:	-					
Gas Code & Desc:	-					
Sewer Code & Desc:	-					
_ot Width:	0.00					
Lot Depth:	0.00					
The dimensions shown are r https://apps.stlouiscountymn						ax@stlouiscountymn.gov
		Improveme	nt 1 Detai	Is (CONCENTR	AT)	
Improvement Type	Year Built	Main Flo	Iain Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish	Style Code & Desc
MANUFACTURING	1960	544,7	716	2,012,116	-	H - HEAVY
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	14	42	588	FOUNDAT	ΓΙΟΝ
BAS	1	20	42	840	FOUNDAT	ΓΙΟΝ
BAS	1	24	34	816	FOUNDATION	
BAS	1	26	324	8,424	FOUNDATION	
BAS	3	0	0	116,600	FOUNDATION	
BAS	4	0	0	92,400	FOUNDATION	
BAS	4	0	0	319,000	FOUNDAT	ΓΙΟΝ
		Improven	nent 2 Det	ails (42X78 UTI	L)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc
UTILITY	1975	3,27	76	3,276	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	42	78	3,276	FOUNDAT	ΓΙΟΝ
		Improvem	nent 3 Det	ails (40X50 UTI	L)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
UTILITY	1975	2,00	00	2,000	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	40	50	2,000	FOUNDAT	ΓΙΟΝ
		Improvem	nent 4 Det	ails (30X42 UTI	L)	
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
UTILITY	1975	1,15	52	1,152	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	0	0	1,152	FOUNDAT	





### St. Louis County, Minnesota

		improveme	ant 5 Deta	ails (CONVEYOR			
Improvement Type	Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
MATERIALS STORAGE	1960	16,764 25,72		25,724			
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	20	32	640	FOUNDATION		
BAS	1	20	36	720	FOUNDATION		
BAS	1	20	484	9,680	PIERS AND FOOTINGS		
BAS	1	22	22	484	FOUNDATION		
BAS	2	20	38	760	FOUNDATION		
BAS	3	32	64	2,048	FOUNDATION		
BAS	3	38	44	1,672	FOUNDAT	ION	
		Improveme	ent 6 Deta	ails (CONVEYOR	(S)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Des	
MATERIALS STORAGE	1960	21,8	66	21,866	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	16	266	4,256	PIERS AND FO	OTINGS	
BAS	1	16	268	4,288	PIERS AND FOOTINGS		
BAS	1	26	30	780	FOUNDATION		
BAS	1	26	256	6,656	PIERS AND FOOTINGS		
BAS	1	34	47	1,598	FOUNDATION		
		Improvem	ent 7 Det	ails (STRG TAN	K)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Des	
	1960	865,4	462	865,462	-	ST - STORAGETN	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	0	0	0	865,462	-		
		Improvem	ent 8 Det	ails (STRG TAN	K)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish Style Code &		
	1960	865,4	462	865,462	-	ST - STORAGETN	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	0	0	0	865,462	-		
		-		ails (STRG TAN	K)		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des	
	1960	865,4	462	865,462	-	ST - STORAGETN	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	0	0	0	865,462	-		
		-		tails (STRG TAN	•		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des	
	1960	865,4	462	865,462	-	ST - STORAGETN	
Segment	Story	Width	Length		Foundat	ion	
BAS	0	0	0	865,462	-		
		-		tails (STRG TAN	•		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des	
	1960	865,4		865,462		ST - STORAGETN	







Segment	Story	Width	Length	Area	Foundatio	n
BAS	0	0	0	865,462	-	
		-		tails (10X120 S	•	
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish Style Code	
MATERIALS STORAGE	1970	1,20	00	1,200	-	MO - MATL OPE
Segment	Story	Width	Length	Area	Foundatio	
BAS	1	10	120	1,200	POST ON GRO	DUND
		Improveme	ent 13 Deta	ails (10X52 STF	RG)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish Style Code	
MATERIALS STORAGE	1970	52	0	520	-	MO - MATL OPE
Segment	Story	Width	Length	Area	Foundatio	n
BAS	1	10	52	520	POST ON GRO	DUND
		Improveme	ent 14 Deta	ails (RR TRAC	<b>(</b> S)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
	1960	3,68	80	3,680	-	-
Segment	Story	Width	Length	Area	Foundatio	n
BAS	0	0	0	750	-	
BAS	0	0	0	905	-	
BAS	0	0	0	1,010	-	
BAS	0	0	0	1,015	-	
		Imp	rovement	15 Details		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Des
PARKING LOT	1985	151,0	000	151,000	-	A - ASPHALT
Segment	Story	Width	Length	Area	Foundatio	n
BAS	0	0	0	65,000	-	
BAS	0	0	0	86,000	-	
		Improveme	nt 16 Deta	ails (FINE CRU	SH)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
MANUFACTURING	1960	284,0	004	695,100	-	H - HEAVY
Segment	Story	Width	Length	Area	Foundatio	n
BAS	1	22	28	616	FOUNDATION	
BAS	1	30	104	3,120	FOUNDATION	
BAS	1	30	160	4,800	FOUNDATION	
BAS	1	32	72	2,304	FOUNDATION	
BAS	1	62	102	6,324	FOUNDATION	
BAS	1	96	102	9,792	FOUNDATION	
BAS	2	0	0	180,024	FOUNDATION	
BAS	4	0	0	18,928	FOUNDATION	
BAS	4	0	0	19,560	FOUNDATIO	N
DAG		0	0	38,536	FOUNDATIO	
BAS	4	0	0	88,888		511
				Louis County		



St. Louis County, Minnesota



Date of Report: 4/26/2025 12:41:15 PM

		As	ssessment Histo	ory			
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
2024 Payable 2025	580	\$38,800	\$1,939,300	\$1,978,100	\$0	\$0	-
	Total	\$38,800	\$1,939,300	\$1,978,100	\$0	\$0	0.00
2023 Payable 2024	580	\$36,900	\$1,937,500	\$1,974,400	\$0	\$0	-
	Total	\$36,900	\$1,937,500	\$1,974,400	\$0	\$0	0.00
2022 Payable 2023	580	\$34,400	\$1,937,500	\$1,971,900	\$0	\$0	-
	Total	\$34,400	\$1,937,500	\$1,971,900	\$0	\$0	0.00
	580	\$27,600	\$1,937,500	\$1,965,100	\$0	\$0	-
2021 Payable 2022	Total	\$27,600	\$1,937,500	\$1,965,100	\$0	\$0	0.00
		٦	ax Detail Histor	ry			1
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV		Taxable MV
2024	\$0.00	\$0.00	\$0.00	\$0	\$0		\$0
2023	\$0.00	\$0.00	\$0.00	\$0	\$0		\$0
2022	\$0.00	\$0.00	\$0.00	\$0	\$0		\$0

**Disclaimer:** St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.